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B mAGAOIRY
ool HUARA (Shol: &2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 410,000
307 gl2tol & 1,020,000 408,800 611,200
= 510,000
= 100,000
= 410,000
02 2IZHBYAIHE X 1,020,000 408,800 611,200
ST TS ALS 1,000,000,000& 1,000,000
= 500,000
& 100,000
= 400,000
NHELSZHTHXIZALY 20,000,000& 20,000
= 10,000
[Ea 10,000
HAHYUMRSAIL(EX) 270,000 262,680 7,320
= 135,000
= 27,000
Ea 108,000
402 2IZtA=01d 270,000 262,680 7,320
= 135,000
= 27,000
= 108,000
02 QI X2 AL EE(0IHTHE) 270,000 262,680 7,320
NS XSS HKIZ ALY
200,000,000 200,000
= 100,000
= 20,000
= 80,000
NESUHIDIXI A 20,000,000 20,000
= 10,000
= 2,000
= 8,000
oIS XHSEHEHIXIZ A
30,000,000 30,000
= 15,000
= 3,000
= 12,000
NEIIMEANE SR A 20,000,000 20,000
= 10,000
= 2,000
= 8,000
NS0 PR 25,000 25,000
401 AIZHIX S0HH 25,000 25,000
01 A28l 25,000 25,000
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A LS KA
B mAL OIS
o9l HAURRE LR
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 2IHBHAIHE £ 50,000 50,000 0
NHLSEHE LI T
50,000,000& 50,000
SMERCIFEAIMXIZ(EX) 28,000 28,000
201 Zet=3h] 28,000 28,000
01 AtR2t2|HI 28,000 28,000
AS X2l B EAIMXI A (23)
28,000,000 28,000
HLHAIE 8,078,599 660,548 7,418,051
= 500,000
=S 1,910,800
s 5,667,799
dLSFAIL 4,599 4,548 51
201 2= 1,059 1,008 51
01 At22t2l] 1,089 1,008 51
NAIRES ¥ A2F 7
50,000 * 122 600
NELHAIE FR=E OHA
9,000& 18 *513] 459
202 048l 3,540 3,540
01 2L A b 3,540 3,540
NELSAIE FRF2 U0
60,0002 18 x503] 3,540
SEIZ2NEHAE(BX) 36,000 36,000 0
& 10,800
= 25,200
401 AIZHIZ SO 36,000 36,000 0
= 10,800
o 25,200
01 Al&H| 36,000 36,000 0
NEE2EEHAE 36,000,000& 36,000
= 10,800
o 25,200
S F 2t 18,000 20,000 A2,000
401 A2 HIZL R 0HHI 18,000 20,000 A2,000
01 Al&HI 18,000 20,000 22,000
NELE 22T FXEx
18,000,000 18,000
HLSESHAL 4,300,000 0 4,300,000
401 AIZHIZ SO 4,300,000 4,300,000
01 Al&H| 4,300,000 4,300,000
Nesd2 RSAE gixy
3,000,000,000& 3,000,000
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NsHA2 REAL SIZY EXEY
1,300,000,0002 1,300,000
HED2RIOHA A (ASEUS) 2,900,000 500,000 2,400,000
= 1,900,000
=z 1,000,000
401 AIZHIZL S THYI 1,000,000 500,000 500,000
01 Al&ZHI 1,000,000 500,000 500,000
NEE 22X olal=A X (2023)
1,000,000,0002 1,000,000
402 QI2EXH2 01 & 1,900,000 0 1,900,000
== 1,900,000
03 212+ EFAIH 1,900,000 0 1,900,000
NEE 22X ora=A X1 (2024)
1,900,000,0002 1,900,000
[ 1,900,000
HE = SA T 300,000 0 300,000
401 AIZHIZL S THH 300,000 0 300,000
01 AlZHI 300,000 0 300,000
NEXFH SHFH| 300,000,000 300,000
ASMMSTES(BX) 500,000 0 500,000
2 500,000
401 AIZHIZL S THY 500,000 0 500,000
2 500,000
01 Al&ZHI 500,000 0 500,000
1)AS MASK ZHAY
500,000,000 500,000
= 500,000
HUAAN LS (FQURN 04 20,000 0 20,000
401 AIZHILSH 20,000 0 20,000
01 Al&ZHI 20,000 0 20,000
1)5te] M &AW HHBAH
20,000,0002 20,000
HY LY A (FLSEXAD) 9,000 9,120 A120
Jl=3| 9,000 9,120 A120
J|=3H 9,000 9,120 A120
201 YEHR | 1,200 1,320 A120
01 Al 22lH 1,200 1,320 A120
NEA2Y AlR22/H|
120,0002 %10 1,200
202 01t 4,800 4,800
01 ZLHOIHI 4,800 4,800
NEN2Y AREX Y0l
60,0002 9283 4,320
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